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Unit (1)
(1) Write the fraction that represent the colored part : 
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……………….

……………….

……………….
(2) Colour according to the fraction : 


   [image: image2.png]







[image: image4.png]






[image: image6.png]



(3) Complete:
1) 5 = [image: image8.png]


   


2) 8 = [image: image10.png]



3) 10 = [image: image12.png]





4) 4 [image: image14.png]


 = [image: image16.png]



5) 4[image: image18.png]


 =[image: image20.png]


 


6) 5[image: image22.png]


 = [image: image24.png]



7) [image: image26.png]


 = …… [image: image28.png]





8) [image: image30.png]


 = …… [image: image32.png]



9) [image: image34.png]


 + [image: image36.png]


 = [image: image38.png]





10) [image: image40.png]


 – [image: image42.png]


 = [image: image44.png]



11) [image: image46.png]


 + ………. = [image: image48.png]


   

12) [image: image50.png]


 - [image: image52.png]



13) 1 - [image: image54.png]


 = [image: image56.png]



14) 756.2= ………. Tenths + ……… units + ……. Tens + ……. hundreds

15) 197 = …….. tenths + ……… units + ……… tens + ……… hundreds  
17) ………….. = 1 tenth + 0 units + 4 tens + 0 hundreds.

18) 617.254 = ……… thousands + ……… hundredths + ……… tenths + ……… units + ……… ten + ……… hundreds.
19) 5.6 = 5 + ……… 
20) 7.4 = ……… + ……… 

21) 9.1 = ……… + 0.1 

22) 7.2 = ……… + 0.2 
23) ……… = 6 + 0.3 
24 ) ……… + 0.3 + 0.4 = 1

25) 2.167 = 2 + ……… + ……… + ……… 
26) ……… = 9 + 0.1 + 0.04 + 0.008 

27) ……… < 24.9 < ……… 
28) ……… < 754.25 < ……… 
29) ……… < 6.542 < ……… 
30) 1.6 + ……… = 9.6 
31) ……… + 125.125 = 200.5
32) ……… - 3.6 = 7.634
33) ……… - 41.41 = 3.8 
34) 4453 ÷ ……… = 44.53
35) 4.76 = 4 + 0.7 + ………
36) 12 ÷ ………… = 0.012

(5) Put (√) for the correct statements and (X) for the incorrect ones:

1) 4.256 + 4.4 = 8.260

(
) 

2) 19.07 – 8.007 = 7.063
(
)

3) 4.075 = 4 + 0.7 + 0.005 
(
) 

4) 64 ÷  1000 = 0.64 

(
) 
5) 8.8 – 8.08 = Zero

(
) 
6) Put the suitable sign (< , =  , >) :-
1) 0.6  
0.3 
2) 0.35 
  0.5
3) 1

0.999

4) 0.42

0.24

5) 3.14

3.2
6) 0.92

1.02

7) 3.14

3.2
8) 58.003 – 57.03
1 + 0.973
9) 99.89 – 90.09 

10 – 1.01

10) 520.46 + 0.73 
520 + 1.10
11) 25 [image: image58.png]


 - 19.15  

6.45
12) 1.75


1 [image: image60.png]



13) 785 ÷ 10  

8000 ÷ 100
(7) Arrange the following numbers in an ascending order :

7.5 , 7.30 and 7.25
The order is …………. , …………. and ………….
(8) Arrange the following numbers in a descending order:


5.58 , 5.5 , 5.85 and 5.7 

The order is …………. , …………. , ………….and ………….

(9) Underline the equal numbers in each of the following group:

* 18.04 – 18.40 – 18.040 – 18.44 and 1.840 

* 0.10 – 10.1 – 0.01 – 0.001 and 0.1

11) Complete the missing number : 
a)





b) 

c)  





d) 
12) Hany bought a pair of trousers for L.E 75.75 and a pair of shoes for L.E 49.5 How much money did Hany pay ?

13) Mai had L.E 253 she bought  a dress for L.E 125.7 and some books for L.E 37.95 How much money is left with her?

14) Ali has L.E 24.75 and Ahmed has L.E 15[image: image62.png]


 Find How much money Ali and Ahmed have together. 
Unit (2)

1) Approximate each of the following numbers to the nearest 10. 
a) 85 ( ……………. 



b) 21395 ( …………….
c) 99 ( …………….



d) 999 99 ( …………….
e) 6.7 ( …………….



f) 3 ( …………….
g) 543 [image: image64.png]


 ( …………….

(2) Find the result of each of the following operations then approximate the result to the nearest ten:
a) 32 125 + 62342 = ……………. ( …………….
b) 43267 ÷ 10 = ……………... ( …………….
c) 700 000 ÷ 65093 = ……………. ( …………….
d) 59.8 – 17.4 = …………….. ( …………….
e) 1023.6 – 549.17 = ……………… ( …………….
(3) Observe the number X on the number line in each of the following cases and complete : 

A ) 
X ( ……………. To the nearest ten. 


b) 

X ( ……………. To the nearest ten.

c) 

X ( ……………. To the nearest ten . 
(4) Write all the whole numbers which if approximated to the nearest 10 . 
a) 580 the numbers are  ……………. .
b) 300 the numbers are ……………. .
c) 0 the numbers are ……………. . 
(5) Approximate to the nearest 100 

a) 999 ( …………….  , b) 9 ( ……………. , c) 7248 ( ……………. 

d) 86 ( …………….  , e) 4.987 ( ……………., f) 0.98 ( ……………. 

g) 990909 ( ……………. 
(6) Choose the correct answer : 
a) 59723 ( …………….  (to the nearest 1000)    
[59000 , 60 000 , 59 700]

b) 8 ( ……………. (to the nearest 100) 
[0 , 100 , 1000]

c) 3000 is approximated to the number ………….. to the nearest thousand
 



[2498 or 2625 or 3512]
(7)  Write 5 possible numbers in each case: 

a) ………………. (  3000 to the nearest 1000

b) ………………. (  500 to the nearest 100

c) ………………. (  0 to the nearest 1000
Story problems: 

a) Eman bought a blouse for L.E 25.3 , a bag for L.E 35.7 and a pair of shoes for L.E 85. 

How much money did she pay approximated to the nearest ten ? 

b) On his bicycle, Youssef covers a distance of 1250 metres in one minute, Find the distance he covers in 5 minutes approximating the result to the nearest thousand? 

(9) Approximate each of the following to the nearest10000 
a) 42633.15 ( …………...

b) 65432.1 ( …………...

c) 54399[image: image66.png]


   ( …………...
d) 963351 ( …………...

Units (3)

1) Are the figures congruent? Write yes or No:

a)
b) 

c)
2) Circle the two congruent shapes in each of the following cases:
3) Complete : 

a) two square are congruent if the side length of one of them is ………………. to the side length of the other. 

b) A diagonal of the rectangle divides it into two …………. triangles.
c) Any two triangle are congruent if each ………….. is congruent to its corresponding side in the other triangle. 

4) Put (√) or (x) :

a) Two polygons are congruent if their corresponding sides have the same length. 






(
) 

b) Ascalene triangle can be congruent to an isosceles triangle. 


(
) 

c) Asquare of side length 7 cm. Can be congruent to a rectangle of dimensions 7 cm and 5 cm. 




(
) 
d) Two right – angled triangles are congruent if the length of the two right sides in the first triangle equal the length of the two right sides in the other. 





(
) 
5) In the opposite figure: If triangle UVW ≡ triangle XYZ, complete 
a) XY ≡ …………..

b) <V ≡ …………..

c) WV ≡ …………..

d) < Z ≡ …………..
e) m (<U) = …………..ْ
f) UW = …………… cm
6) Is the blue line a line of symmetry ? Write yes or No:

a) 






b) 


………………..




………………..

c) 






d)

………………..




……………….. 

7) Complete the following: 

a) The isosceles triangle has ………………. line (s) of symmetry. 

b) The square has ………………. line(S) of symmetry. 

c) The circle has ………………. line(s) of symmetry.

d) The regular pentagon has ………………. line(s) of symmetry.    
Unit (1) 
(1) [image: image68.png]








2[image: image70.png]






[image: image72.png]



(2) 
(3) 
1) 10




2) 8

3) 30




4) [image: image74.png]



5) [image: image76.png]


 




6) [image: image78.png]



7) 2[image: image80.png]







8) 1[image: image82.png]



9) [image: image84.png]







10) [image: image86.png]



11) [image: image88.png]







12) [image: image90.png]



13) [image: image92.png]







14) 756.2 = 2tenths + 6units +5tens +7 hundreds
15) 197 = zero tenths + 7 units + 9 tens + 1 hundreds

16) 40.1
17) 617.254 = 4thousand + 5hundredths + 2tenths + 7unit + 1ten+ 6 hundreds 

18) 0.6




19) 7 + 0.7 

20) 9





21) 7

22) 6.3




23) 0.3

24) 0.1 + 0.06 + 0.007 


25) 9.0148

26) 24.8 < 24.9 < 25 


27) 75.24 < 75.25 < 75.26 

28) 6.544 < 6.542 < 6.543

29) 8

30) 75.375




31) 11.134

32) 45.21




33) 100
34) 0.06



35) 1000
(4) 

1) (X) 

2) (X)



3) (X)


4) (X)



5) (X)


6) (√)

(6) 

1) >


2) <



3) >


4) >



5) <


6) <



7) <


8) <



9) >


10) >



11) = 

12) = 



13)<
(7) 7.25 , 7.30 and 7.5

(8) 5.85 , 5.7 , 5.58 and 5.5 

(9) 18.04 – 18.040


0.10 – 0.1    
(10) 
a) 3 / 2 / 9



b) 4 / 5 / 1 / 4 / 0


c) 1 / 3 / 3 / 5 / 6


d) 9 / 4 / 0 / 1 / 0 / 0 / 4 
12) Hany paid = 75.75 + 49.5 = L.E 125.25

13) She paid = 125.7 + 37.95 = L.E 163.65 
The money which is left unit her = 253 – 163.65 = L.E 89.35

14) Ali and Ahmed have together 
= 24.75 + 15 [image: image94.png]


 







= 24.75 + 15.25 = L.E 40
Units (2)
1) 
a) 90


e) 1000 00

b) 100

f) Zero


c) 10


g) 540


d) 21400

2) 
a) 94470


b) 4330


c) 10


d) 40


e) 470

3) 
a)10


b) 70


c) 60

4) 
a) 580.579,578
/
577.576.575



b) 300.299.298
/
297.296.295



c) 0, 1 , 2 , 3 , 4
5) 
a) 1000


b) zero 


c) 7200


d) 100


e) zero


f) zero


g) 990900
6) 
a) 600 00


b) 0



c) 2625

7) 
a) 3000 , 3010 , 3020 , 2090 , 2080


b) 500 , 510 , 520 , 490 , 480 


c) 0 , 10 , 20 , 30 , 40
8) 
a) She paid = 25.3 + 35.7 + 85 = L.E 146 ( 150 approximated to the nearest ten

b) Youssef covers in 5 minutes = 1250 X 5 = 6250 meters ( 6000
9) 
a) 40000


b) 70000


c) 50000


d) 960000

Unit (3) 
1) 
a) nat congruent 

b) congruent 

c) nat congruent
3) 
a) equal 


b) congruent 


c) side 

4) 
a) √ 


b) X


c) X


d) √ 

5) 
a) UV

b) <Y

c) ZX

d) <W

e) 52


f) 4

6) 
a) No 
b) yes
c) yes 
d)yes
7) 
a) one


b) four 


c) infinite 


d) five 
    8    4  .  7 9


( ( . 3   4+


    3   9   . ( ( ( 





    7 ( .    3


   ( 5  . 6+





    9  8 , (





     (   7   5  .  3    1   1


     8  ( (  . 3    1-





     (    7   1  ,( ( ( 





      6   8    4  .  5  2 


   ( ( (  . ( (-





     0    3   1   .  2   1





x





10





0





x





80





70





x





62





55





z 





y





x 





u  





w  





v





≡





≡





38 °











